A & ol & AF & Ml A

2020 E 2OI& FXE S
T 200 AISI4 Y
B 210 FAFN AL
8 214 A4l (S5 8 8)
H.o@-g-2 ol & =0 ko HDS2
z 7 9,840,000 5,090,000 4,750,000
200 Al 2l 4 637,640 579,380 58,260
210 ZAT AL+ 219,400 190,060 29,340
214 A4 199,400 175,200 24,200
214-02 FX234¢ 199,400 175,200 24,200
< DS > 199,400 175,200 24,200
OLNRBFINE HolHs2 29,350,000 * 43| 117,400
ORE ZYEY DAUHE 82,000
—YFEZBHIE BYENEY 18,000,0008 * 23] 36,000
—oYs 3TYFNE 5,000,0002! * 43l 20,000
—oYS 4BYFNE 6,500,000 * 43l 26,000
216 01 Xt 2 20,000 14,860 5,140
216-01 BB S0/ X4 20,000 14,860 5,140
<RSI > 20,000 14,860 5,140
OB20IZ 0K+ 20,000,0008 * 14 20,000
220 4 AT AIS| 4 418,240 389,320 28,920
223 HESLDEHES 358,240 309,320 48,920
223-05 DEHZ 358,240 309,320 48,920
<DSID > 358,240 309,320 48,920
O 98t DEHE 4+ 358,240
—FHI AP BEHB(AY 32,0009)
32,0008 * 6602 * 128 253,440
—FHI SAY DA (AY 40,0009)
40,000% * 21021 + 12 100,800
—FHI AP DA (AY 50,0009) 50,0008 * 802 4,000
225 ML T 49 60,000 80,000 20,000
225-01 Xt © 49 60,000 80,000 £20,000
<DEHIY > 60,000 80,000 £20,000
ONYHEE =X7 9Igr DHE 60.,000,0008 * 14 60,000
500 BE3 3,212,000 0 3,212,000
510 212 X3S 3,212,000 0 3,212,000
511 2 D2 X3S 3,212,000 0 3,212,000
511-02 B RHSUHSHIHZ XS 3,212,000 0 3,212,000
<DEHIY > 3,212,000 0 3,212,000
OOZOIEHIDIBY % XoHFHE S SBAL ZHMY(BY
ERE AEY) 1,200,000,0008 * 144 1,200,000




& 500 ExX3
2 510 2DPE3S
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OOIZIOIEIOIBY & XSHEXE S =AM ZLA (RS
SN ZEXH) 112,000,000& * 14 112,000
ONEBACA FXEY LN (ZSETE HE)
1,900,000,000& * 14! 1,900,000
00 Ed=LSHUEAHA 5,990, 360 4,510,620 1,479,740
710 B8+ S 202,360 1,510,620 A 1,308,260
711 A= 202,360 1,510,620 A 1,308,260
711-01 =ANIAHLAHS 202,360 1,510,620 A 1,308,260
<NSHFY > 202,360 1,510,620 A 1,308,260
O=NALHZ 202,360,000& * 14l 202,360
720 LHE Hel 5,788,000 3,000,000 2,788,000
721 Y3 5,788,000 3,000,000 2,788,000
721-03 JIEtSI H A L S 5,788,000 3,000,000 2,788,000
<us#HL > 5,788,000 3,000,000 2,788,000
OAIJK SSEFIE ALY 500,000,000& = 40 A 2,000,000
O3 HEFXE A 1,500,000,000& * 14 1,500,000

OO0Bl0IHIDIEE & Xot=XE S SEAE ZHAE AlbI
fEg=2 1,388,000,000& *» 14 1,388,000
OIS EA F=XHEH ZHAE AMBIREE

900,000,000 = 14! 900,000




